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Simplifying Trig Expressions Using Identitics

®
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I. Factor cach of the following:
A) l-cos’ @ B) 1-sin” 0 C) sin” 0 - cos” ¢}
D) sina —sin” « E) tan’ o —cot” & F) sec’ 0 -1

2. Express cach of the following in terms of sin@ or cosé , or both.

A) ! B) sin® 0+ — C) (:056?L

secd sec” O secd
D) tanfcosd E) l-csc’ @ M

cot™ &
3. Wrile each of the following in terms of cos@.
A) sin® @ B) cos’ 8 C) cot’ & D) tan’ 0
E) col @sin 8 F) tanOsin @ G) cs:iag H) cotfcscd
cot’

4. Express each of the following in terms ofsin & or cosé , or both.
csc’ @

A) tan Osecd B) — C) 1+1an’ @ D) l+cot’ 0
cot” @
tan & = coté Gysec’0—tan’0  H) I+ tand
I+ tané | +cotd sec

5. Write each of the lollowing in simpler form (this means to write in terms of one of the primary ratios)

A) sin@cot @ B) sin@ + co-s;'gB C) sin*@+sin’Acot’ @
sin
D) cos' @ +sin” @cosd E) cot@secfsind F) (sin@ +cos8)’ - 2sinfcos @

6. Write each of the following in simpler form (this means 1o write in terms of one of the primary ratios)

A) sin(.r+£)—cos(x+£) B) sin(.r+£)+cos{,t+£)
3 6 6 . 3

O sin(%)coa{%) + cos(%‘} sin(%) D) cos(a — b) ~cos(u + b)

e} sin(a + 7)—sin(x — a)



 Simphlying Trg

QO@®) -cos'e

=(I+rcas@X i—0os6)

c) SING -cosi@

=(8M6 +cos@X5ne CosO)

e) tarfx -coto

(Fana + cotax X tanot -cotex)

@ A) A =Ccsl
Sec
C) CQS@ ’__L
Sec @
= e @
e) I-cse%®
/-1
S'G |
= SINPG -1 = -COY
O"”’@ SINtG
@ w SIN‘G
= [-co5°0
c) cot*Q = cos0
sin'G
e) Cotl 3ne
=030 . sin@
SnO

= |cos8|

O

Expressins U511y [dent fres

@ I —sin~ ©
(1+ oYX I-sin®)

d) Sino - sina
=Sl 1 -Sinu)

£) Sec*® -y
= (sec @+ 1X(sec©-1)

B) Simt@ +_1.
Q@

cccsbccs@ ) Fan @ cos@

AAN@  cosG = NG
COSO

F) .Lcoi_é) =1+
Cot* e Cof"’@

= /'GWZQ +H o= SINO +/
, oSO
= 3I’b+cos’e = _|
Cost@ Ces

B) 5@ = oS cos®

o) 40 s 5174

0S5’

£) +an@ 5,0
=39Nn%® =
cos0

1-Cos’0.
CosS@

=sin'@r C‘QSEG\



g) Cac & h) CotQ csc @
cot?® , s cos® . L
=1 .30 O S5NG  Sne
G  Cos*© = coSQ = _cos®
= Sinl S1NO [-costO
Co5tO
@A) +n8 sec& B) Cx°6 = _L 50’6
= SInd . _L cot’Q 570 oSO
CoS0O Ces
= SipG = sin'Q
s
c) oot d) 4ar@
= 05’6 = SO
[AINO Cccs' @
&) qun @ > Sinl sl ’?3 le3 143
i+ tan@ _CL = ces@rsmB | +¢ct6
[+ | s
e ' Ir Sin
= CcsO
ec?0 - fan’ W) Litang _3m0
9)=5_€.IC__(9 fagm% h): Ltg—"_élé_ T
Cos® cos@ e 1rRmO) | - ocol
| SinG ¢ SE
= _1=510'Q ccsO( i+ st
CoOLE NSl

CesC45inB
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5) A sin@.cotO B) sin@ + cos*OQ

= 5In6. 58 sin@
oin@ - 810 + cos’e
= cosO® sinG s
= an'@+cos’Q@ = _ 1L - o308
SinG SinG
C) SO+ 5170cet’® &) oS0 +517°0 (s
=517® (14 ¢ot’) = oSO (€os%0 +51n0)
=81n' @ (cc*S) = CesO(1)
= 3I*6: 1 = ¢SO
S G

= |

e) cot03ec@5n@ ) (5in@+cos@) = 35inOcos®
COS@. 1. SN 23IN'O+ 331:7(‘:? Cos @ +cos O -JsinCeost
3:76 ces® =2 5t + CcostO
= - '
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¢ 1) Sm('x 1 I%f) - (‘(?f:{’x flgj

(Sm"kCC‘.S %’ 'r::’)n’)lg(‘(‘:S)() - ((’C";} Xces i - L/)))(‘Smlz:)
é‘-.

(3]

- S (4 (F)eesr ~ Cesxil) + x4

ja_,;mk +¥3 (5% —-\E—Su DX AL i)
t 5

¥

= SAinx
B) s % 1) + cos (w—')
= (smxcee (F) +sm(D)eesx ) + (cesxees(E ) S‘nwsmé%_))
= %‘iiﬂ\ i .Ja_(c_.‘_,'y\ + _!)_{fr:'{j)u —%lﬁﬂ)’x
= CCEHYX

C’) .un(. )C(J()‘ly> s (’t“.,( )5\))( “)
Sy (2

= <3 ( h)
SmX

D) _(’CS(CI 'b) & (“S((z )
= ( CCSACCSh SINASn0h) - ((C:ci.( CSb - Simasmb)
S nesinhb

("’) Snda -+ - S -a)
3 (SHICL("(‘:JFTT((‘.Sa‘»mﬁ‘) - ( Sl cosa — Sy ;;;)a)
-(-—:)‘nm +( )"('C *(’05}:7&)
= =Sl =Sia
= —Asina



